Name:
. Unit 7: Rations Expressions Practice Test
Determine ONLY the least common denominator for each expression.
2n Sn #1'6
1. x=3 5 3x 6x—~9 {
2 - —— —_—
' n2+4n-5  n2-1 2 - 10 3. — RATING i
(N+5)
LT i n o g 4 1 s 2\ .
oo N+ o A N-1 T o AXES) LCD: (X*VX*”
. n 6n 5 5 10 12x 7
(n+2)2(n+5)  (n+3)(n+5) LT 2x2-x-3 0 x+1 T x245x+6  (x+3)(x+6)
:~U]” g o7 ~ ? /
R, A FmIRALRTD (X+3/(‘A+2\
e ARV .
XK =5 #1100

o IAAP(FSIOR) | | oo (X Y23 J ﬂw ﬁuﬂwﬂu%ﬂ

J)(/L?f ?V”'fu

Simplify. 2 N®° e
’;‘\,\ /'\{( Ve }( L;‘ ._2/“(1' M
7n2+21n o 5x2—10x 16x3+80x?
13 .RAﬂNG: 32210 30 RATING:

20(1/43)
hADS

n

perform the indicated operation.
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